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1 3.B
CH; N,O
CH, N),O
2 3.D
3.Dal
3 3.D
3.D.a5
N,O
N,O
N,O
4 3.F. coO
26
2006 IPCC
CO

3B1
N2O 3D.a3
N.O
N.O
N.O
N.O
N,O
N.O
N.O
N.O
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CH,4 N.O
2006 IPCC
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2016

2016 2013
1 2013
1,810 t-COsq. 46.7%
740 t-CO.eq. 19.1% 700 t-CO.eq. 18.0%
560 t-COeq. 14.6%
2015
1 2013
-COzeq.
Co2 CH4 N20
39531 —» 38704 27958.4 — 21,951.7 11,041 — 10214

A 7,401 7,401
1 7,026 7,026
2 3 3
3 334 334
4 38 38

B 6955 —> 6954 24113 —» 24107 4,543
1 3859 — 3858 2206.3 > 22057
2 0
3 1,305
4 608
5 N20 1182

C 18,077
1 18077
2 0
3 0
4 [0}

D 6476 — 5649 6476 — 5649
al 124 — 122 124 —» 122
a2 1334 1,334
a3 40— 45 00— 4
a4 592 592
a5 832 —» 366 832 — 366
a6 115
b.1 641
b.2 1599 —» 1285

E NO

F 91
1 35
2 19
3 13
4 1
5 24

G 370

H 162

NO

: (2015 Y= ( )
CRF

NA: Not Applicable
NO: Not Occuring

NE: Not Estimated

|E: Included Elsewhere
C: Confidential



2016

1990 2005 2013 2
1990 90 t-COx.g. 2005 80 t-COxqg. 2013 80 t-COxq.
N.O
2
t-CO2eq
1990 2005 2013
3A CH4 9,064 9,064 8,287 8,287 7,401 7,401
3B 7,603 7,602 7,011 7,011 6,955 6,954
CHA oo ] s34 3363 273 273 | 241 2411
N20 4,249 4,249 4,278 4,278 4543 4,543
3.C CH4 17,294, 17,294 17,275 17,275 18,077 18,077
3.D N20) 8192 7,264 6,921 6,079 6,476 5,649
3E NO NO NO NO NO NO
3.F 163 163 111 111 9 91
S 5 125 8| el . 69 . 69
N20 39 39 26 26 21 21
3.G CO2 550 550 231 231 370 370
3.H CO2 59 59 179 179 162 162
31 CO2 NO NO NO NO NO NO
42925 41997 40,015 39,173 39,531 38,704
1990 2005
-7.9% -7.8% -1.2% -1.2%
3
3
t- CO.e0.
1990 2005 2013

3. -028 -842 -827
-928 -842 -827
3B.1 -1 -1 -1
3D.al 0 -1 -2
3.D.a3 5 5 5
3.D.a5 -578 -525 -516
3.D.b.2 -355 -322 -314




2016 2013
3870 t-COxeq. 1990 330 t-CO, 7.8% 2005 50
t-CO, 12% 70 t-CO, 1.8% 1990 1990
2000
2015
4
t-CO2€eq.
1990 1995 2000 2005 2010 2011 2012 2013
3A CH4 9,064 8,993 8,682 8,287 7,829 7,794 7,607 7401
3B 7,602 7,183 6,815 7011 7,168 7,176 7,069 6,954
cH4 3,353 3,146 2,879 2,733 2518 2522 2472 2411
N20 4,249 4,038 3,936 4,278 4,650 4,654 4,597 4,543
3.C CH4 17,294 17,942 16,726 17,275 18,596 18,254 17,921 18,077
3D N20) 7,264 6,706 6,455 6,079 5771 5,705 5,687 5649
3F 163 142 124 111 95 94 92 91
CH4 125 109 9% 85 73 72 70 69
N20 39 34 29 26 22 22 22 21
3.G COo2 550 304 333 231 243 247 370 370
3.H CcO2 59 56 110 179 160 162, 162 162
41,997 41,326 39,244 39,173 39,863 39431 38,907 38,704
tCO2 eq.
50,000 -
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2006 IPCC
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N,O
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3.B.

CH,
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